REVIEW A

Find the value of each of the following:

1.
2
3
4

5

10.

(a) (b) (©)
1672 + 298 3984 + 1479 804 + 9196
. 3941 — 296 4732 — 2415 5000 — 4999
47 x 3 207 x 5 789 x 4
78 = 3 700 = 4 451 + 5

1628 boys and 1092 girls took part in an art competition.
How many children took part altogether?

There were 4525 concert tickets for sale in the morning.
1909 tickets were sold at the end of the day.
How many tickets were left?

There were 485 ¢ of petrol in one drum.
How many litres of petrol were there in 4 drums?

(a) A tailor bought 563 m of cloth to make dresses.
He used 3 m to make each dress.
How many dresses did he make?
How many metres of cloth were left?
(b) If he sold all the dresses at $5 each, how much money
did he receive?

There were 1052 people in a village.
650 of them moved to a new town.
226 of the people left in the village
were adults.

How many of them were children?

Sulin has $240.
Meifen has 3 times as much money as Sulin.
How much money do they have altogether?

67




